
Year 4 Worksheet 1: Place Value (5 and 6-digit)

Question 1: Write the number in expanded form.

143,450 = 100,000 + 40,000 + 3,000 + 400 + 50

207,862 =

672,394 =

585,482 =

1,653,892 =

2,040,274 =

5,713,078 =

2,066,508 =

7,685,890 =

8,397,010 =
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Question 2: Write the place value of the underlined digit.

495,359 = 5 tens 546,045 =

796,954 = 920,246 =

603,246 = 953,135 =

3,211,335 = 7,445,369 =

6,446,269 = 4,464,249 =

9,410,394 = 144,359 =

8,349,048 = 9,856,304 =
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Question 3: Find the missing place value from a 4-digit number.

200,000 + + 3,000 + 500 + 10 + 6 = 213,516

400,000 + 1,000 + _______ + 70 + 9 = 401,579

700,000 + 1,000 + 500 + ______ + 5 = 701,555

600,000 + ______ + 3,000 + 500 + 40 + 9 = 673,549

_______ + 40,000 + 500 + 9 = 840,509

5,000,000 + 600,000 + ______ + 10 + 1 = 5,600,711

______ + 500,000 + 3,000 + 400 = 6,503,400

4,000,000 + 30,000 + _______ + 50 + 9 = 4,034,590

8,000,000 + 9,000 + 600 + _______ + 1 = 8,009,671

2,000,000 + _______ + 80,000 + 3,000 + 7 = 2,583,007

9,000,000 + 70,000 +_______ + 40 + 3 = 9,070,643
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Question 4: Compare numbers with ">", "<", "=" symbols

349,543 < 432,253 249,350 ___ 259,350

284,263 ___ 93,135 964,235 ___ 983,253

935,305 ___ 866,357 3,454,358 ___ 4,946,305

435,295 ___ 365,525 529,530 ___ 529,503

4,359,935 ___ 4,359,935 5,359,355 ___ 5,235,355

9,358,305 ___ 3,235,999 742,460 ___ 7,424,600

2,460,246 ___ 2,356,572 0,235,355 ___ 235,355
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Answer Key

Question 1: Write the number in expanded form.

= 100,000 + 40,000 + 3,000 + 400 + 50

= 200,000 + 7,000 + 800 + 60 +2

= 600,000 + 70,000 + 2,000 + 300 + 90 + 4

= 500,000 + 80,000 + 5,000 + 400 + 80 + 2

= 1,000,000 + 600,000 + 50,000 + 3,000 + 800 + 90 + 2

= 2,000,000 + 40,000 + 200 + 70 + 4

= 5,000,000 + 700,000 + 10,000 + 3,000 + 70 + 8

= 2,000,000 + 60,000 + 6,000 + 500 + 8

= 7,000,000 + 600,000 + 80,000 + 5,000 + 800 + 90

= 8,000,000 + 300,000 + 90,000 + 7,000 + 10
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Question 2: Write the place value of the underlined digit.

495,359 = 5 tens 546,045 = 0 hundred

796,954 = 6 thousands 920,246 = 0 thousand

603,246 = 6 hundred
thousands

953,135 = 5 ten-
thousands

3,211,335 = 5 ones 7,445,369 = 7 millions

6,446,269 = 4 hundred-
thousands

4,464,249 = 4 tens

9,410,394 = 9 millions 144,359 = 1 hundred-
thousand

8,349,048 = 0 hundred 9,856,304 = 5 ten-
thousands
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Question 3: Find the missing place value from a 4-digit number.
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Question 4: Compare numbers with ">", "<", "=" symbols

349,543 < 432,253 249,350 < 259,350

284,263 > 93,135 964,235 < 983,253

935,305 > 866,357 3,454,358 < 4,946,305

435,295 > 365,525 529,530 > 529,503

4,359,935 = 4,359,935 5,359,355 > 5,235,355

9,358,305 > 3,235,999 742,460 < 7,424,600

2,460,246 > 2,356,572 0,235,355 = 235,355

Free Math Worksheets • www.successtutoring.com.au


